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ABSTRACT

In this supplementary file, we show more figures. Please note that a Mathematica notebook is also
given in the supplementary contents.
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1 The twist u3(s) for the Moebius configuration
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Figure 1: The twist strain ug as a function of my and mgs for Moebius solution. (Left) Sadowsky inverted law, Equation
(1b) with p = 1 and € = 0, exhibiting the jump at s = 1/2 and the periodic closing between s = 0 and s = 1. The
plane mgy = 0 is also displayed. (Right) Regularized Sadowsky model with p = 1 and € = 0.01 (blue). Wunderlich
model (black, dotted). The surface is colored coded with |n| > 1 for the yellow parts and |n| < 1 for the green parts.
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2 Three shapes

Figure|2| shows three Moebius solutions, computed with (1) Kirchhoff model (p = 0 and € = 0), (2) Sadowsky’s model
(p = 1 and € = 0), and (3) Sadowsky’s regularized model (p = 1 and € = 0.01). The three shapes are approximately
the same, with the last two virtually indistinguishable.

Figure 2: Moebius solution for (Green) Kirchhoff model (p = 0 and € = 0), (Red) Sadowsky’s model (p = 1 and
e = 0), and (Blue) Sadowsky’s regularized model (p = 1 and € = 0.01).
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3 From Kirchhoff to Sadowsky’s models

Figure shows the curvature u2(0), opposite to the Wunderlich point, computed with the constitutive relation (1)) with
€ = 0, for the Moebius configuration. The limit p = 0 corresponds to the Kirchhoff model, while the limit p = 1
corresponds to the Sadowsky’s model.
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Figure 3: Curvature at s = 0 (opposite to the Wunderlich event) for the Moebius solution computed with (T)). The black
dashed line corresponds to the Sadowsky’s limit, u2(0) = 3.3865.
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